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SUMMATIVE ASSESSMENT - I, 2012 | MA1-014
wfora / MATHEMATICS

e - IX/ Class - IX

Fruifia wwa : 3 wwe srfiraram 31 : 90
Time allowed : 3 hours Maximum Marks : 90
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General Instructions:

(i)

(iii)

(iv)

All questions are compulsory.
The question paper consists of 34 questions divided into four sections A, B, C and D.
Section-A comprises of 8 questions of 1 mark each; Section-B comprises of 6 questions of 2
marks each; Section-C comprises of 10 questions of 3 marks each and Section-D comprises
of 10 questions of 4 marks each.

Question numbers 1 to 8 in Section-A are multiple choice questions where you are required
to select one correct option out of the given four.

There is no overall choice. However, internal choices have been provided in 1 question of
two marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions

Use of calculator is not permitted.
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Question numbers 1 to 8 carry one mark each. For each question, four
alternative choices have been provided of which only one is correct. You have
to select the correct choice.

4B +3/7 wEAE:

8 16 % 18
@ 3 (b) 3 © 3 @ 3
The value of 4 V28 +3V7 is
8 16 4 18
& b 4 2
(@) 3 (b) 3 (© 3 (O] 3
AT TG p(x) =22 + 11x + kHTIF 4B AKkFAAE
(@ 40 (b -2 © 28 @ 5
If ~ 4 is the zero of the polynomial p(x) = x + 11z + k, then value of k is
@ 40 (b -28 © 28 @ 5
o fandt agye s qEw AR €
@ o ® 1 ® 2 @ 3
Maximum number of zeroes in a cubic polynomial are :
@ o0 ®™ 1 © 2 @ 3
TR 2 + 8x + 15TU 2 + 3y — 10 1 TS UF@E & :
@ x+3 (B x+5 © x-5 @ x-3
Common factor in quadratic polynomials x2 + 8x + 15and 2 + 3x ~ 10is
@ x+3 () x+5 © x-5 @ x-3
AABCH ZA+ 2B = 105°, ZB + £C = 120°W LB AA & :
@ 65° (b 80 © 35° @ 45
If in a triangle ABC, ZA+ B = 105°, ZB + £C = 120° then £B is :
(@ 65° (b)™ 80 @ & 45°
wweh AT e ABCH Wi fA wawavi  § B wam ¥
@ 45 (b 60 © 30 @ %0
At angled isosceles triangle ABC is right angled at A. Then ZBis :
@) 45° (b 60 © 3 @ 90
farg (—2, 5) forg wgatu & feem &, 7w ¥
o1 (b 1 © m @ v
Point (-2, 5) lies i the quadrant :
@ 1 b u (© m @ v
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afe it y, A (x, y) # (v, %), A afex=
@ (w=w» b))  yE(y)
© @=Cx-» @ @Y=(-xy
If x# y, then (x, y) # (y, ¥), Butif x=
(a) xy) =W (b) ) (yx)
© @y=0Cx-y» @ E&Y=(xy

@ug-a/ SECTION-B
uvH A 9 |/ 14 v % 2 379 ¥
Question numbers 9 to 14 ‘carry two marks each.

0.57%01 0,55 % 11 2 srafeiy wend, fafaw |

Find the two irrational numbers between 0.5 and 0.55

TUFETE H : 22 + 2 — 2y —1
L ) Y

Factorize : 2 + 12 — 2y -1

3fera wefwfir =1 WA T (103)° 1AM T B |

Using suitable identity evaluate (103)°

& ¢ st # afs AC=BD T fag FfAYAB=CD

A B € D
In figure, if AC = BD, then prove that AB = CD

A B C D

& T omgfa H 4K AB ||CD, ZAPQ=40°a LPRD=118° x, y F H FW

I |
A P B
40°
118°
cQ R D

In figure, if AB||CD, ZAPQ = 40° and £PRD = 118°, find x and y.

A P B
40°
118+
cQ RD

9ar/ OR
& ¢ STfi i AB|| CD || EF @8 : y=3 : 2 8l 2 %1 T 10 HIo0C |
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Find the area of a triangle when two sides are 24cm and 10 cm and the perimeter
of the triangle is 62 cm.

WUg-H/ SECTION-C
W AT 15 9 24 ¥ Wik % 3 3t ¥
Question numbers 15 to 24 carry three marks each.

3
(729) 6 %1 7r 7/ Ffag)
1
Find the value of (729) 6
a7gaT/ OR

TR 5 0.235 F B w9 foran on s & vt p, q ot & g £.0
q
Show that 0.235 can be expressed in the form £, where p and q are integers and
q
q40.

M a+b/i5 = ﬁ*@ﬁlaambmmm#ﬁm

Find the value of a and b, when a + b JI5 = ﬁ%ﬁ
i g 1
W wpd o L 92
T Sl o
L g 9.1
Factorize 27p° = —— — ~ p? 4 1
actorize 27p° ~ e - 2 p 42 p
9ar/OR
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Factorize : a° — b*

4f 3= 2 1 = 0 TG 208 — 532+ px + b Al p T b il HT FW HITAL |
If x = 2and x = 0 are zeroes of the polynomial 23 — 5x2 + px + b, then find
the value of p and b

fergs tforg, e Fgst 3 il =61 2 180° 8w ¥

Prove that the sum of the angles of a triangle is 180"

e/ OR
forg T o af 2 Y e wfreda e &, @ viifige Fon e #)

Prove that if two lines intersect, then the vertically opposite angles are equal

& m wigf # AC=BC, ZDCA=ZECB q41 ZDBC=ZEAC @ &% o

DC=EC
D E

A C B

In the given figure AC= BC, £ DCA = £ ECBand £ DBC= £ EAC
Prove that DC = EC
D E

A c B

zrﬁ:@?ﬁwfﬁaﬁmwﬂw#ﬁvﬁquﬂﬁwﬁaaﬁﬁamzﬁaﬁ%
o % waE €, @ < B watTew da §)

Prove that “Two triangles are congruent if two angles and the included side of
one triangle are equal to two angles and the included side of other triangle”.

et ABC # frg B @ C ¥ WS AC 741 AB W @i 7Y WA BE 41 CF & 90
BE=CF @, iy #Ifre & (i) AABE= AACF a1 (i) AB=AC
A
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ABC is triangle in which altitudes BE and CF are equal. Then show that :

B c

@ 7 spfa H PQ aar RS < uvi ¥ W i e g % WA ¥ 1 U STva fRTo AB,
T PQ & farg B W zahurdt ¥ i wrafifa fRtor vy BC W we %X 790 RS ¥ C W

T & e T YO @ R CD & srifew v W ¥ fam #ifg AB || CD #1
E B Q

D

R )
In figure PQ and RS are two mirrors placed parallel to each other. An incident

ray AB strikes the mirror PQ at B, the reflected ray moves along the path BC and
strikes the mirror RS at C and again reflects back along CD. Prove that AB||CD
B Q

R C s

T W GHE 1 SRT o R S Y 25 m A9r10 m ¥ 1 SrEHI qed

14m A 13 m &1 T Qa H1 A T R |
A field is in the shape of a trapezium whose parallel sides are 25 m and 10 m,
The non - parallel sides are 14 m and 13 m. Find the area of the field

@UE-g/SECTION-D
WO WEAT 25 | 34 % v % 4 97 §1
Question numbers 25 to 34 carry four marks each.

uﬁx=ﬁj y:g:i W22 4 g2 + g T T R
3+ -1

, then find the value of 22 + 2 + xy.

&
I
-
P
&
+

1
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31.

g x =3-242, W 3 -

If x =322, find x* -
syl [
mﬁaﬁﬁm:[l] & x“

.
T b e
Simplify [T] x {(?

6

HYE U OGS B @ + b+ )’ — (@ —b— o)+ b’ - 4
(a=-b-ci+ 4’ -4

Simplify and factorise (a + b + ¢)*

Afa+b+c=6adab+bc+ca=11a’ +b'+c’~3abe

Ifa+ b+ c=6andab + bc + ca = 11, find the value of a’ + b’ + ¢’ — 3abc

TG p(r)=ax’ -3¢+ 4 M q(x) =2~ 5x-+a H (x-2) & WM T W dwwet p ofq E1
A% p—-2q=4 7, A a 70 o1y

The polynomials p(x)=ax’~3x*+4 and q(x)=2¢"-5xv+a when divided by (x—2)
leaves remainder as p and q. If p—2q =4, find a.

fag A(-2, —2), B(6, 0) C(0, 4) 1 D (-3, 2) 1 WF T @G HIT | ABCD

e wifeay aen fafay f, fag A a1 D fra wgute # 82
Plot the points A(—2, —2), B(6, 0), C(0, 4) and D (=3, 2) on the graph paper
Draw figure ABCD and write in which quadrant A and D lie

afe wa fadw T &1 g e w w9 fag Fife e s o F aafgase
UF HEd T E
If two parallel lines are intersected by a transversal , then prove that bisectors of

the interior angles from a rectangle.

AABC % wwfgarg s # fom § AB=AC| ¥ BA F1 D T 30 YHR #gr1 T

fEBA=AD #1 firg Fifom ff £BCD U wwahvr &1
D

A
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AABC is an isosceles triangle in which AB = AC., Side BA is produced to D such
that BA = AD. Show that ZBCD is a right angle.

D
A
B c -
39T/ OR
& T srFfa ¥ AC=AE, AB=AD 71 ZBAD = ZEAC | f6 #Ifi¢ BC=DE
A E
B ) C

In the given figure AC=AE, AB=AD and £ BAD = Z EAC Show that
BC = DE -

4 B
B ) C
AABC ¥ BC o1 W 2 farg D 71 E 96 ¥R ¥ f BD=EC 741 AD=AE| f&%
FHIFTG AB=AC
A -
B D EE

In AABC points D and E are on BC such that BD = ECand AD = AE, Prove that
AB = AC

Page8of 9




[image: image9.jpg]B D E C

34, fag wifsg e o fog & i wiid et @ m, d= genell % 4 & w0 8 4
Show that the sum of the three altitudes of a triangle is less than the sum of the
three sides of a triangle.
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